
Order of Math Operations with Numbers up to 100 (E-3)
CHALLENGE

Name:

Time: Score: /

249)

(29 + 0× 84× 23× 25− 3× 7− 30÷ 10− 3) =

250)

((10× 0)× 31)× 45 + ((10× 0× 4)÷ 62) + 0× 3 =

251)

(((9÷ 1)× (10× 7÷ 7× 0÷ 6)÷ 5) + 71− 33) =

252)

55 + 4× (((32÷ 8)− 4))× ((7 + 52)− 59)− (75− 63) =

253)

(1× 3− ((0÷ 7)× 99))÷ 3 + 78× (((33− 29)× 0)) =

254)

7 + 35 + 36÷ 9× 2× 1− 0÷ 3 + 24÷ 3 =

255)

((5÷ 5)÷ 10× 10)− (((85− 36− 40))÷ 3) + (2÷ 1) =

256)

(5× 9)− (((80÷ 8− 3)))− (((33 + 12)÷ 5))− 0÷ 22 =
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